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'191 7O 21 R RN — Rather, Rav Yosef said etc.

Overview

moon introduces the concept of Dpn 7% XWwn Wnawnn that the intent of a
person to place an object in a specific place or to remove it from a specific
place renders that place a "7 opn. Therefore, N1©0IN asks, since in our 7IWnN
there is intent to remove the object from the hand, as well as to place it in the
hand, it should be considered a "7 0pn, because of the intent. N10IN explains
that there are different levels of intent, and in order to say 7% KXW N2AWnn
0Pn, the intent must be exclusive that he wants it only there, and no where
else.

noY 271 7727 PO 2 K'"awnh gwp — The X"aw= asks why is it necessary
for 729 and oY 29

2ORIND mawnn TRpae — to qualify the mawn (which does not require a Dp»
1), according to various 1E’Nln, implying therefore that the 71wn is not according to
everyone, when they could say that the 71w is according to everyone

(@@ X, 77) PPAIYT RN P2 1T K20 K7 - for since 19 297 172 maintain
in the last P22 of P21

2Pn R XMW ImawnmnaT — that his intent suffices to render it as a
significant place of '7 5y '7,

ARV 297 P PAWT 701 29 ani MWRPT — for oY 21 said there that if he
relieved himself or spit from one NMwA to another MW", he is 3> a 27p
DRLR

N2 '7 2%P% Japa N 72 — and the Xn) there asks on 701 29, why is he
2°m, we require a 'T 2yp» for an 77°pY, and in this case there is none, since
the place on his body from where he spit, etc., i.e. the mouth, etc,, there is no "7 2P, so
why is he 21

2P 9 RN nawnn uwnY — and the X713 answers that his intent — that
he wants to remove the spit, etc. from this specific place in his body, his
mouth, etc. - renders it as a significant place, and therefore he is 21, because

we consider the 77°pY to be from a 21wn DPn
The X3 there continues to prove its point that 2p» 2 X1 Wn NAWnn

*o77 X2 n K% X7 — for if you will not say so, that mpn % ®7wn wnawnn
Then there will be a difficulty with

1> 2977 JwaD 952 I 292 52 PO 172 KT N7 — that which 7721 said that if he
threw an object nnX '7 into the mouth of a dog or into the mouth of a
furnace’ he is 2> etc., even though the mouth of the dog is not a '7 017, but since

" y"5 according to 7127, and *21 according to oY 27
2 See "m9WwN NATOW AVIRPY" WA 92 7T PATY WA
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he intended that it should land there, so 21pn % X Wwn 1N2awny, the same” is true in the case
of A0 27 that Dpn 7°2 ®WnH NWAN.

We see from the X723 in P21y that both *4o1 271 720 agree to the concept of N2AWNN
pn % XMW, so let us say that in our 7Iwn also, everyone agrees (not only 271 ¥"), that
he is 2»n, even though there was no '7 DWpn vn MM 77°pY, nevertheless he is 2»n
because P 2 XWH INAwnn since he intended to take it from the hand and place it in
the hand.

= irdel Y9 RO INAWTA WART N7 an 12n Y950 — The n''1 answers that this
concept of 2P 9% R NN

TMIR P2 79 703 K97 8997 1907 — is applied only in a case where he is not
content if it would be done in any other manner i.e. that he wants the 7Py
711 to be from a specific place and/or to specific place exclusively.

P Pnwn M — as in the illustration that was given by n01 27 namely
relieving oneself or spitting

MR PIV2 PN PR 9120 PR — that it is impossible for him to relieve
himself or spit in any other manner, except that it come from his mouth, etc.
which is not a "7 21pPn

25> %52 P77 321 — and the same is true in s'727 case where he threw the food
into the mouth of the dog

25277 1PON" 1139w — that he wants specifically that the dog should eat it
TWaD2 YU AW IR — or in s'7127 second case that he wants that the wood
should be burnt in the furnace, only in such limiting circumstances do we say
QPR % RMWR NN,

To defend this argument that the cases quoted above are only if he specifically intended
for the m3M 77°PY to be in a specific place only, NM901N says:

252 02 11 any 9073 8™ — the text in P217°Y should not read '"a%s sp2 m",
“and it landed in the mouth of the dog”

72% 1MIN> PRT yawn m7 — for the word 'm' - ‘and it landed’ - has the
connotation that he had no intention as such, but rather it just happened to
land, and this cannot be so, for if it was not intended specifically for the dog’s mouth, the
concept of Q1P 7 X™Mwn nawnn would not apply, therefore the text reads (according to

mooIN) 295 °2 P he threw it into the mouth of the dog, omitting the word 'n'.
This is pertaining to the X713 in 1217°Y, where 701 271 727 maintain 2P 7°% RMWH NN

TR 9952 IN 1792 Dapn AR W 1R X7 ar — however here in our 71wn he
i.e. the "1 or the 2"7v2 is not particularly concerned whether he receives®

the object in his hand or in another receptacle, therefore the concept of Wnawnn
opn % Rwn does not apply in our mIwn.

? See “Thinking it Over’ #1

*In the case of Ry

3 In the case of 7m37

% mpoin refers to 1man, the same is true about 77°pY
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(%,7 n7) JAP2 %R7 X7 — and concerning that which the X 3 says further
concerning a case where someone threw an object and it landed in another’s hand, he is
21, the X3 asks, why is it necessary to tell me this 1°7, we already know from our 71wn
that a person’s hand is considered a '7 2)pn, to which the X723 responds:

Y70 TAWANRT RO RIMR M — that from our 71w one might think that a
hand is considered a 'T 03p» only in a case where he considered [the

receiver’s] hand significant, meaning that he intended to place the object in his
hand, here however it merely landed in his hand, so we may think that in such a case it is
not considered a '7 2Ipn, therefore "»p that it is.

We see from that X3 that it considers our 73wn a case of 17°% 7awnX that he intends to
place it in his hand, and that would be the reason — in the XX ™17 — why he is 21

1792 M2 MR Pava uhap 7Y X7 23 Yy 8 — even though he is equally
satisfied to receive the object in another manner not necessarily in his
hand, as moo1n pointed out previously, that in our 7awn, he is not insistent to receive it
only in his hand, for if he would insist on receiving it only in his hand, then we would
say Qpn 12 XMwn nawnn (and that would be sufficient to consider it a '7 23pn), so why
does the X3 say that since 177 7awny, I would think, that is the reason that it is a good
7m317, when we just stated, that in order that 72wnX should have the power to make it a
'7 0IpPn, it is only when his intent was to place it exclusively in the hand. The answer is:
That in our X723 we have not yet learnt the 17 that a person’s hand is like a "7 217, and
we would like it to be considered a '7 232 because 2PN 7V XKW IN2AWRN, for this it is
required that he insists on receiving it in his hand exclusively, and no where else, which
clearly is not the case, - however

TARPT QWM 1977 — in that X3 we are already assuming

'7 By '75 7 m2wn 278 W 1797 — that a persons hand is significant as a
place which has '7 %¥ '7, however in the XX M7 we thought that when do we say
'7 %y "191% 72wn 07X YW 17, only when he intended to place it in the hand (even when the
intention was not exclusive) but when it happened to fall into a hand then it is not 73 21wn
'7 9y, the R1pon is however that '7 5 'S Y9 72wn 07R YW 17° always, even when there is no
intent at all, it just fell into the hand..

2927 “8wa 9aR — however in other situations i.c. the cases of the dog or the
spitting, where there is no '7 217 at all

\nawma 79 M XY — his intent cannot cause it to be a significant 01pn
2AR PIYa TR NI KRBT X907 KPR — unless it is a case where he is not content
if it were performed in any other manner.

Summary
1P % XMWwn nawnn only when his intent is to remove it from - or place it

in - a specific place, exclusive of any other place.

Thinking it over
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1. How may we attempt to refute the proof from s'7127 case that X*1wn 1n2Wn~
0P 79, that it may not apply to s'\o 27 case (based on the previous
mooin)?

2. How are we to understand 2pn % X 1N2wnn in the case of 7717py?

3. How does the concept of opn 7% X»wn wnawnn differ in y17°n mooin as
opposed to Xwp N1voIN?

4. What is the explanation of the X1»X M, that '7 HY '75 12 72Wn QTR YW 17 is
only when 17°% mawny?



